a(3 ) (rad)
a(d cot(B))

107 Y= : :':: : : : i 107

NP 11 O 1 T Y 1P Y Y AR O 1T R
IQLUJ_* : .91.\)-)_ :
T i i T r i
o L j o L !
111 ‘ o + i -m:r i +
[ [ i i i 114
3 -2 3 -2 -1 0 1 2 3

-1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_IT__ornginalREDO
—e— DQM_TT__original_option0
—— DQM_TT__original_optionl
—— DOM_TT__original_option2

— -~ 1
S S F:
G G E-
e c [:
= = -
Y > [
° o

=) ¢ B
S o

107}

107

1072

SN 8 1 0 U 1 1 O

10

Rati

iy

[T
|
N

|
W[

-1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95

a0 p,/p,)

107

10%

Ratio

iy

[T
|
N

- o0 1 2 3
TP n (PCA to beamline)

0.95



	Contents
	Page 1


